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JNEAL 2NE K4 " 'GROSS| HDCP | NET | crosswits =
1 R ok 45 45/12.0 133.0 3
2 |ZH * 51 51116.8 |34.2 2L
3 KR % 44 44] 9.6 |34.4 3L
4 |$BIRET % 35 35/ 0.0 135.0 4 {57
b FEE  wxx 41 411 6.0 [35.0 5 fr
6 |FEFH kx 40 40| 4.8 |35.2
7 EH ek 45 45/ 9.6 [35.4 7L
8 |F&: xx 44 44| 8.4 [35.6
9 [BHE 44 44] 8.4 135.6
10 |APRE  * 43 43] 7.2 [35.8 1 04z
11 _[F7RAK % 43 43] 7.2 135.8
12 [ *=x 48 48(12.0 136.0
13 [FEE * 41 41] 4.8 136.2
14 | KZEHE *=x | 41 41] 4.8 136.2
15 A xx i 47 47110.8 136.2
16 | KB ‘ 47 47/10.8 [36.2
17 [FEEE  *x 47 47110.8 136.2
18 [EA  *x 47 | 47]/10.8 [36.2
19 &S xx 40 | 40| 3.6 136.4
20 [HEJI] ek 46 | 46] 9.6 136.4 RE
21 R B x 46 . 46] 9.6 [36.4
N 52 | 52/15.6 [36.4
23 |EER xx 52 - 52/15.6 [36.4
24 |BEH  kx 45 | 45 8.4 [36.6
25 |FEJR ok ! 45 45/ 8.4 [36.6
26 |BCEF  kx 44 L 44] 7.2 136.8
27 KB % 44 44] 7.2 [36.8
28 |#ATE  x 50 | 50/13.2 [36.8
29 |FFE ek 50 50/13.2 136.8
30 [KHE 49 | 49]12.0 137.0 RE
31 [HFR ek 49 49112.0 [37.0
32 [IRAS kx 55 |  55/18.0 /37.0
33 [FRAC ek 55 55/18.0 [37.0
34 |[HY ek 42 | 42] 4.8 [37.2
35 EAE ok 42 42| 4.8 137.2
36 I ek 49 | 42] 4.8 ]37.2
37 B ek 42 42| 4.8 [37.2
38 [fEH ek 42 © 42] 4.8 137.2
39 b\ 49 42] 4.8 137.2
40 PTFEE 48 48/10.8 [37.2 RE
41 PEAR  kx ‘ 48 48110.8 137.2
42 FBO ok \ 48 48110.8 137.2
43 EE % 48 48110.8 {37.2
44 I ek | | 41 41| 3.6 |37.4
45 AR kk % 47 471 9.6 37.4 | &
46 RS xx \ ! 53 53/15.6 137.4 | |
Y- | 53 53,15.6 137.4 .
48 TIFL ek \ 53 53/15.6 [37.4 |
49 BEEF  *xx ‘ 46 46! 8.4 137.6 '
50 RS ek ! : 45, 45| 7.2 |37.8 FRE
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JNEAL 2INE K4 B 'GROSS| HDCP | NET | crosswti 3%
51 BB kk 45 450 7.2 137.8 |
52 |=fk ok 45 45| 7.2 137.8
53 |3t kx 44 44| 6.0 138.0
b4 |EH 44 44] 6.0 138.0
b5 HIAS  kk 44 44] 6.0 138.0
56 [FRA ek 50 50/12.0 138.0
57 Kt ok 58 58120.0 138.0
58 AR kk 43 43] 4.8 138.2
59 B ek 48 48 9.6 138.4
60 [f ek 54 54115.6 [38.4 FEE
61 [BJIl  *k 54 54/15.6 |38.4
62 11N * 47 47 8.4 [38.6
63 |E/  kk 46 46] 7.2 138.8
64 [HEH ek | 45 450 6.0 139.0
65 |ZEME bk % 51 51112.0 139.0
66 KT sk i 50 50/10.8 [39. 2
67 &Il ek 50 50{10.8 [39.2
68 |JNEE ek 56 56/16.8 139. 2
69 g ek 49 49] 9.6 [39.4
70 [hE skx i 55 55/15.6 139.4 RE
71 BER ok | 55 55/15.6 139. 4
72 UK k% 48 48] 8.4 139.6
73 CHE ok 48 48] 8.4 139.6 !
74 R % 47 47] 7.2 139.8
75 Wb kkk 52 52112.0 [40.0
76 IAJL bk 51 51/10.8 [40.2
77 _UNEF 51 51/10.8 140.2
78 /N % 57 57/16.8 140.2
(L s 57 57/16.8 140.2
80 |Fry  ekk | 50 50/ 9.6 140.4 FE
81 [FfH * 50 50/ 9.6 140.4 l
82 [FBor ok 55 55/14. 4 140.6
83 FE 53 53/12.0 [41.0
84 EH 59 59/18.0 141.0
85 |JAHE  * 61 61/20.0 [41.0
86 AER ek 61 61/20.0 [41.0
87 TR Hkk 54 54/12.0 142.0
88 |HLll 53 53110.8 [42.2
89 |AKH  #k ‘ 51 51 8.4 142.6 «
90 [/hE ek 55 55/10.8 '44.2 RE
91 [ *x 55 55/10.8 [44.2 s
92 |EE 65 65/20.0 145.0 |
93 (BJI[ = 61 61/14.4 146.6 | ‘BB
94 [ * 2 82 C 82120.0 162.0 | |
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